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(Introduction To Three Dimensional Geometry)
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we T 1. T fog X-3tg W feom #1 z@es
y-ﬁsz—ﬁ%ﬂﬁEW%?

B ¢ - X1 W fooa fag & fdwia = (x,0,0)
. X-318 W e famg % foq y-frdetisar = 0

qen z-FdsTieR= 0 T
W 2. Uk fag XZ-aa1 & 1 30k y-Fvnan &
TR U 3T AT g Tehel £7
T - XZ-qa | foog feht fog &
fadsne = (x, 0, 2)

(iii) Frdfotier @7 TR WL...oT=IOT W

faramfa e 1

B ¢ (i) X-319 3 Y-3187 SF1 Tk 919 THere

T 9 991 2, 39 a9 % XY-T9aeT Fad 2

(i) XY -0 ¥ T fog & 0 (x, y, 0) €9

% 2 2

(iii) FwT aa1 Tafier =1 8 Ty ¥ fauwfaa
&
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¥ 1. FAfetEa favg i o siter &t gl 7

©. X771 H feo Tl forg Fy-fidoish= 0 W iy -

W 3. ST =Pl o AW SAEU, e
Frfafa fog from €

1,2, 3),4,-23),4-2,-5),

@,2,-5), - 4,2, 5), (- 4, 2, 5),

-3,-1,6),2,—4-17)

A
fagaw |fag o Frdonient | sreiyn s
frdetien sty | fagfemd

1,2,3) .+ 4 I
4, 2,3) (+,—,+) 111
(4,—-2,-5) G VII
(4, 2,— 5) (+,+,-) \Y%
(— 4,2,— 5) (=, +,-) VI
(- 4,2,5) (=, +,+) 11
(- 3,—-1,6) (=, —,4) v
2,—4,-17) (+,—,-) VII

W 4. e Tt ot gfa st
(i) X-3781 3R Y-2181 1 ek Ty fretent U
I 1 2 I o I ) AU Fed B
gi) XY-a ® Uah farg o Fdvmieh......... 80 &
A §

() (2, 3, 5) 3 (4,3,1)
(ii) - 3,7, 2 3T (2, 4,— 1)
(i) 1, 3,— 93T 1,- 3,49
(iv) 2,- 1, 3) 3T (- 2, 1, 3)
& : (i) RUBLIg : (23,5 3R (4,3,1)
X =2 =3 71=5
X9 = 4; yo= 3; 29=1
fageli (2, 3, 5) 31X (4, 3,1) % o= * 4
= \/(xz —x)% +(yg — ¥y + (23— 21)*
= J4- 22 +(3- 3% +(1- 5)>
=22+ 0+ 22
=, J4+16=+20=25 IW
a1a: fargati (2, 3, 5) 3R (4, 3, 1) F <= &1 4
=25 I
o (ii) v T
=V 2= +U-D +1-

= 5% + (- 32 +( 3)°
=.J25+9+9=443 IW
o (iii) Rugufag : (- 1,3,— 4) 3R (1, - 3, 4)
x1=-—1; y1=3; z1=—4
Yo=—3;

x9=1; z9g =4



2 | afdra (e 11)
fagali (— 1, 3,— 4) 3R (1, — 3, 4) & S A x2—1 yo=6 z9=—6
= \/(x2 —x)? +(yg — y1)? +(zg — 27)? 4; y3=9 z3=-6

= (1= 02+ {-3- @)%+ 4- )2 _i;x _AxBi( g_ 2 12— 2)
= J@2 + (=62 +(8)% = J4+ 36+ 64 _\/12 021 - y§2 1 ; 2 1012
_ /T0d— 238 = (1= 0)? +(6- D2 +{- 6 (- 10)}
ara: fageli (— 1,3,— 4) 3R (1,- 3,4) & o= =\/(1)2+(—1)2+{—6+10}2
Eﬁiﬁ= 2\/?6 3T =\/(1)2+(1)2 +(4)2
o (iv) U g forg : (2, 1, 3) 3N (- 2,1, 3) _ [T+T716 =i =343
x1=2 n=-15 z21=3 ST DO e
Xo=— 2 Yyo=1 29=3 :
%%ﬁ ,-1, 3)234“[1 - 21,3 a;2a’13 F g = \/(x:s —x3)? + (3 — y2)” + (23 — 2)°
= Jers — 2% + (5 — 91)% + (23— 2)° = J4- 1%+ 90— 8% +1- 6-( 6)}2
=J—2- @12 +{1- (D%} + (3= 37 @2+ +0=/9+9+0
=92 +@2+0 = /16+4+0 = J18 ﬁS\/—
~ J20= 245 A ABC ¥ 1 AB= {5 BC

. ‘ - = AABCW@‘@HEQI
aa: foaget (2, - 1 ,3) &R (- 2,1, 3) F o= = ﬁrqm%!@(o7—10),(l,6,—6)3ﬁ1

=25 I .
(1, 0,— 1) T@ . (II)W%@
§T : AT P= (- 2, 3, 5), (0,7,10)= A; (-1,6,6)=8B
Q= 2 3 qqM (4,9 6=C
L ) -h x=0; =17 z1=10
- - 5 Xo=—1; yo = 6 =6
T, PQ=1+22+@2- 32 +(3- 5) Ny g Z:a
=J9+1+4=114 TENETE AB F1 @
QR=(T- D2 +(0- 2% +(- 1- 3)° = g —x)% + (33 — 3% + (23 — 21)°
= /36 + 4+ 16 = /56 = 2414 == 1- 02 +(6- D% + (6 10)2
FM PR=(T+ 22 + (0 32 + (- 1- 52 R SR
= J81+ 9+ 36 =126 = 3414 — IT1+16 =13
¥ <Wd € fF PR= PQ + QR YarETE BC T
et =V =) 10—+ ey = 2°
G) (0, 7,— 10), (1, 6,— 6) 3T (4,9, 6) = J{— 4— (= 1D}2 +(9- 6)? +(6- 6)
Teh wafgeg B o 9 € == 4+ D2 +(32 +(0)

(i) (0, 7, é"éﬁ%l. 6,6) 3T (- 4,9,6)TH JC DT+ (@2 +0= (97950 = VI8
(i) 1,2, 1), (1, - 2, 5), (4,— 7, 8) 3K tETaTe CA 1 Tl

(2, — 3, 4) T TR AL & vid §) = Y —a)? +(y3 — y1)% + (25 —21)°
& : (i) W =J4-02% +©9-72%+ (6-10)
(0,7,—10)=4, (1,6,—6)=B 2 2 2
AR (4,9,—- 6)=C =\/(—4) +(2)° +(-49)

xl—O 1= 7, Zl=_10 =,/16+4+16 =



e, AB? + BC? = (J18)% + (J/18)?
=18+ 18 = 36 = CA?
THHIT A ABC ®, AB? + BC? = CA?
o URYTIRE YT % fadm ®, A ABC 9HSIUIA
et 21
ga: few gu fsg (0,7,10),(-1,6,6) &
(- 4,9, 6) T THHIT 9 o 909 €| Proved.
e (iii) W feu gu forg el A, B, Caa D &
T, AB=11+1D%+(-2- 2% +(5- 12

= J4+16+16=36=6
BC= 14— 1% +(- 7+ 22 + (8- 5)°
= J9+ 25+ 9=1/43
CD=2- 92+ 3+ D% +@4- 8)?
= J4+16+16=36=6
M DA=—1- 9% +(2+ 3% +(1— 4°
= J9+ 25+ 9=1/43
gHeEd e 6 AB=CD d@m BC= DA
TEd e B § 6 =qds ABCD =i SR @
ST SR 2|
3q: ABCD T d9= =g €1 @1 feu gu
farg ek TR =g s % o 2 Proved.
e 4. U fogell & WH=e@ &l WHIEHIOT
A Wit S feeg (1, 2, 3) R (3,2,- 1) |
TGRS E
e ! WQWWP%W@C,%Z)%I
T, fog A=(1,2,3) 9 g P(x, y,2) B
AP= (- 1D% +(y— 22 + (2 — 3)2

AP=\/x2—2x+1+y2—4y+4+22—6z+9

. AP=\/x2 +y2 +22 - 2% - 4y— 6z + 14

AR fag B=(3,2,- DA RT P (x, y, 2) B
BP=Jx-32+(y-22+{z— (- 1)}2

. BP=1x? — 6x+9+y% — dy+ 4+ (z +1)2

. BP=x?+y? —6x—dy+13+22+ 2z +1

o BP=x?+y%+2%—6x—4y+2z+14
© WRAER, AP = BP
(AP)® = (BP)?
x2+y2+22—2x—4y—62+14
=x2+y2+22—6x—4y+2z+14
—2x+6x—6z—2z2=0

i (wem 11) | 3

4x— 8z=0
4(x—22)=0
x—2z2=0
31a: fagall P o Tq==dl 1 FHH:
x—2z2=0 I
e 5. fargatt P @ o U<od ol UHIeRUT J1d
aifere ferrent fargait A (4, 0, 0) 31X B (— 4, 0, 0)F
R T ARTRS 10
B © WM GY=EA 1 Th g P (x, y, 2) @
ES PA+ PB=10
= PA=10- PB
5> Y@= 92 +(- 02 +(z— 0
= 10— J@+ 92 +(y - 0% + (2 — 0)2
> (x=D2+y2 + 22 =100+ (x+ 42 + y% + 22
—20\/(x+4)2+y2+22
> x2- 8x+16=100+x> + 8x+16
—20\/(x+4)2+y2+22
20 @+ 9% + y2 + 22 = 162 + 100

[Note]

> 5\/(x+4)2+y2+z2=4x+25

> 25 [(x+ 4%+ y? +2%]= (4 x+ 25)2
> 9252+ 8x+16+ y2 +2%)

= 16x2 + 200x + 625

= 9x2 +25y% +25z2 - 225=0

;S FH=IT HT THHRT

9x2 +25y2 + 2522 - 225=0

2 fafay g |

oo 1. W= wgdw % A\ g
ABG,—1,2,B@2,-49HaC 1,1, 2)81=0a
vitd D o Frdvtier JTa smifem)

A © WA GUR =q4S ABCD % <9 9id D
% 9 (x, y, 2) R

7 WM € 6 g wgde & faeel s
Frfgaiig #3d 2

zafere fawvif AC @ BD & weA-fawg wwmt
B

31941"3[3_1,_1+1, 2+2}

2 2 2
_[1+x 2+ y —4+2]

27 2 7 2



4 | afdma (e 11)

+1 + 2 —4
> (1,0 9=|"= 275 2
2 2 2
x+1 y+2 -4
> =1, > "=0 @ =2
2 2 2
= x=1, y=— 27 z=18

ot S 9 D& S = (1, — 2, 8) I
e 2. Ush BI9S ABC & vitat & fdenien
AT A (0, 0, 6), B (0, 4, 0) 7T C (6, 0, 0) T

IS =t Wifementan i Tag JId shifaa)
®T: A=(0,0,6); B=(0,4,0)
C=(6,0,0)

A el BC, CA 3R AB % wea-famg shw:
D,Ed F &
ad, D = BC =1 9e9-fag

0+6 4+0 040
= =(3,2,0)

2 7 2 7 2
A(0,0,6)

E = CA% 999-fag
3 (6+0 0+0 0+6
L2 7 2 2
F = AB =1 geg-fag
0+0 0+4 6+0
:( 2 ? )=(O7273)
2 2 2
9 "R AD = A(0, 0, 6)d D (3, 2, 0) % o=

g

)= 3,0,3)

qaqan

= 3= 02 +2- 02 +(0— 6)
VO + @2 + (- 6)°
SO+ AT 86=19=17

ezt BE = B(0, 4, 0) 9 E (3, 0, 3) & i< &t

o

= J(3=0)2 +(0— 42 +(3— 0)2
@2+ 22 +3)?
=J9+16+9=+34

qe |zt CF = C (6,0, 0) F F (0, 2, 8) & =i &l

=

= (00— 6)2 +(2— 0)2 +(3— 0)2

= J= 6% + (22 + (32

=/36+4+9=149=7
I1a: ISt ABC it wifearshiati =it ofwsmgar 7, /34

T 7@ IW
e 3. Tfe Bryst PQR &1 sk Teaferg § 311
vif P (2a,2,6), Q(4,3b,—10) =3

R (8, 14, 2 ¢) ¥ @l a, b 3R ¢ & UM A Hifwq)
T : B9 & 3 P = (2a, 2, 6),

Q= (-4, 3b, —10)

R=(8, 14, 2¢)
qﬁﬁ%%m%m@,y,z)ﬁ?ﬁ
(x’y’Z)E(ZaH— 4)+8’2+3b+14’

3 3

6+ (- 10)+ 2¢

—
2a+4 3b+16 — 4+ 2

3 ° 3 ’ 3

g fea © o F1 =il S geiferg (0, 0, 0) 2
(2a+4 3b+ 16 —4+2c)5(0’0,0)

qaqn

= (%, y,Z)E(

3 7 3 7 3
20+ 4
R =90 > 20+ 4=0
3
=> a=—2
30+ 16
=0
3
1
=> 3b+16=10 => b=—§6
— 44 2¢
=0 = —44+2c=0
3
> c=2
—16
Hd: a=—2, b=7, c=2 3JW

WU 4, Y-3787 UX 39 fareg o FE9tieh 71 ity
fement fag P(3, - 2, 5) A gl 54/2 81
T : AN Y-3181 R e1ef fag A & e
=(0, a, 0)
¥, AP = 542
> JB-02+(2- a2 +(5B-0)2 =52
= 9+(2+a)? +25= 50
> (2+a)?=16 > 2+a=+4

> a=2, —6
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. efe fogell & f&wi® (0,2,0) @ =  PBZ=1+2x+x2+9— 6y+y2 +49
(0.~ 6,0)%I ST + 14z 422

we 5. Af farg A SR B smwm: (3,4, 5) oM o pp2_ 2 42 4 .2 4o
 1,3,- 7) 81 =1 fag P 3w fafda wqeer @
e WHeuT  |@e hifew,  Wel
PA? + PB%= k? Wl k 3TeR ¥

B : WA R fog P o R (x, y,2) B

— 6y + 142+ 59 ...(2)
THIRIT (1) T THIHIT (2) Hl e W,
PA? + PB® = 2x% + 2y2 + 222 — 4x
— 14y + 4z + 109

A= (3,4,5)
M B=(-1,3-"7 g e H fea @ R
T, PA=\(x— 32 +(y— 92 +(z— 5> PA® + PB? = |?
PAZ= (x— 32 +(y— 42 + (2 = 5)2 coo20% + 2% + 227 — dx — 14y + 42 + 109 = k2
= 22— 6x+ 9+ 92 — 8y+16 oo 224297 +22% — dx— 14y + 42 = k% - 109

2 k% - 109
. . te Pt 25 = x2+y2+22—2x—7y+2z=7
> PAZ=x?+ 3% +2° - 6x 2
— 8y—10z+ 50 ...(1) g W fag P gr (i wq==g ¥ w=fwa
o PB=Jc1-02 43— i+ T-22 HHF

> PB=y1+40%+ 38— »%+(1+2)* 224y tztoon— Ty+ 2=
> PB’=(1+02+(3— y)? +(T+2)

B2 -1
R 109,

I
a



